Lecture 9: CS Example

Monday, October 12, 2009
9:34 AM

min EX\ + 6% - X3
34, Xy o+ X2 =
Kok dxe ¥ f
o+ Oy 2

X X3 7 O

N ol W

g

Clow: (2,0,%) s oghnd Ol - -5

Dl
X DY, %8\/2 +2\ 3
s, Vot Y
Vi v 2ye thiys €6
Ve +S\/S <=
\/2_ éO/ \/3 2 O

CS co/\owr?av\g:

O 2l pd 0 yO  (Hedy i)
© Wk opaed  Hght @ g0 D70

6 zh dul Wt o w0 (kg b
® W Ml ‘\\j\lﬂ or x3=0 = Vo g\/3 ,_H\

So, cms‘(w«z%njrs on dwall ore:
\/f rY2 =5 |
3y 5y ==l D e D =54

\/2_ +

Vg = ©

Lectures Page 1



(e (53%=% O)  is o optind duol solubm.
Pale  Treasible / Oby whe s |6~ % = 15-% g

Lectures Page 2



